. infile invest income consum using e1.txt in 1/92

(eof not at end of obs)

(92 observations read)

. generate tt = _n-1

. tsset tt, quarterly

        time variable:  tt, 1960q1 to 1982q4

. generate linvest = log(invest)

. generate lincome = log(income)

. generate lconsum = log(consum)

. var d(linvest) d(lincome) d(lconsum) in 1/76

Vector autoregression

Sample:  1960q4   1978q4                           No. of obs      =        73

Log likelihood =   606.307                         AIC             = -16.03581

FPE            =  2.18e-11                         HQIC            = -15.77323

Det(Sigma_ml)  =  1.23e-11                         SBIC            = -15.37691

Equation           Parms      RMSE     R-sq      chi2     P>chi2

----------------------------------------------------------------

D_linvest             7     .046148   0.1286   10.76961   0.0958

D_lincome             7     .011719   0.1142   9.410683   0.1518

D_lconsum             7     .009445   0.2513   24.50031   0.0004

----------------------------------------------------------------

------------------------------------------------------------------------------

             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

D_linvest    |

     linvest |

         LD. |  -.3196318   .1192898    -2.68   0.007    -.5534355   -.0858282

        L2D. |  -.1605508    .118767    -1.35   0.176      -.39333    .0722283

     lincome |

         LD. |   .1459851   .5188451     0.28   0.778    -.8709326    1.162903

        L2D. |   .1146009    .508295     0.23   0.822     -.881639    1.110841

     lconsum |

         LD. |   .9612288   .6316557     1.52   0.128    -.2767936    2.199251

        L2D. |   .9344001   .6324034     1.48   0.140    -.3050877    2.173888

       _cons |  -.0167221   .0163796    -1.02   0.307    -.0488257    .0153814

-------------+----------------------------------------------------------------

D_lincome    |

     linvest |

         LD. |   .0439309   .0302933     1.45   0.147    -.0154427    .1033046

        L2D. |   .0500302   .0301605     1.66   0.097    -.0090833    .1091437

     lincome |

         LD. |  -.1527311    .131759    -1.16   0.246    -.4109741    .1055118

        L2D. |   .0191634   .1290799     0.15   0.882    -.2338285    .2721552

     lconsum |

         LD. |   .2884992   .1604069     1.80   0.072    -.0258926    .6028909

        L2D. |     -.0102   .1605968    -0.06   0.949    -.3249639    .3045639

       _cons |   .0157672   .0041596     3.79   0.000     .0076146    .0239198

-------------+----------------------------------------------------------------

D_lconsum    |

     linvest |

         LD. |   -.002423   .0244142    -0.10   0.921     -.050274     .045428

        L2D. |   .0338806   .0243072     1.39   0.163    -.0137607    .0815219

     lincome |

         LD. |   .2248134   .1061884     2.12   0.034     .0166879    .4329389

        L2D. |   .3549135   .1040292     3.41   0.001     .1510199     .558807

     lconsum |

         LD. |  -.2639695   .1292766    -2.04   0.041     -.517347    -.010592

        L2D. |  -.0222264   .1294296    -0.17   0.864    -.2759039     .231451

       _cons |   .0129258   .0033523     3.86   0.000     .0063554    .0194962

------------------------------------------------------------------------------

. var d(linvest) d(lincome) d(lconsum) in 1/76, lutstats

Vector autoregression

Sample:  1960q4   1978q4                           No. of obs      =        73

Log likelihood =   606.307             (lutstats)  AIC             = -24.63163

FPE            =  2.18e-11                         HQIC            = -24.40656

Det(Sigma_ml)  =  1.23e-11                         SBIC            = -24.06686

Equation           Parms      RMSE     R-sq      chi2     P>chi2

----------------------------------------------------------------

D_linvest             7     .046148   0.1286   10.76961   0.0958

D_lincome             7     .011719   0.1142   9.410683   0.1518

D_lconsum             7     .009445   0.2513   24.50031   0.0004

----------------------------------------------------------------

------------------------------------------------------------------------------

             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

D_linvest    |

     linvest |

         LD. |  -.3196318   .1192898    -2.68   0.007    -.5534355   -.0858282

        L2D. |  -.1605508    .118767    -1.35   0.176      -.39333    .0722283

     lincome |

         LD. |   .1459851   .5188451     0.28   0.778    -.8709326    1.162903

        L2D. |   .1146009    .508295     0.23   0.822     -.881639    1.110841

     lconsum |

         LD. |   .9612288   .6316557     1.52   0.128    -.2767936    2.199251

        L2D. |   .9344001   .6324034     1.48   0.140    -.3050877    2.173888

       _cons |  -.0167221   .0163796    -1.02   0.307    -.0488257    .0153814

-------------+----------------------------------------------------------------

D_lincome    |

     linvest |

         LD. |   .0439309   .0302933     1.45   0.147    -.0154427    .1033046

        L2D. |   .0500302   .0301605     1.66   0.097    -.0090833    .1091437

     lincome |

         LD. |  -.1527311    .131759    -1.16   0.246    -.4109741    .1055118

        L2D. |   .0191634   .1290799     0.15   0.882    -.2338285    .2721552

     lconsum |

         LD. |   .2884992   .1604069     1.80   0.072    -.0258926    .6028909

        L2D. |     -.0102   .1605968    -0.06   0.949    -.3249639    .3045639

       _cons |   .0157672   .0041596     3.79   0.000     .0076146    .0239198

-------------+----------------------------------------------------------------

D_lconsum    |

     linvest |

         LD. |   -.002423   .0244142    -0.10   0.921     -.050274     .045428

        L2D. |   .0338806   .0243072     1.39   0.163    -.0137607    .0815219

     lincome |

         LD. |   .2248134   .1061884     2.12   0.034     .0166879    .4329389

        L2D. |   .3549135   .1040292     3.41   0.001     .1510199     .558807

     lconsum |

         LD. |  -.2639695   .1292766    -2.04   0.041     -.517347    -.010592

        L2D. |  -.0222264   .1294296    -0.17   0.864    -.2759039     .231451

       _cons |   .0129258   .0033523     3.86   0.000     .0063554    .0194962

------------------------------------------------------------------------------

. varnorm

   Jarque-Bera test

  +--------------------------------------------------------+

  |           Equation |            chi2   df  Prob > chi2 |

  |--------------------+-----------------------------------|

  |          D_linvest |           10.217   2    0.00605   |

  |          D_lincome |            9.961   2    0.00687   |

  |          D_lconsum |            1.785   2    0.40955   |

  |                ALL |           21.964   6    0.00123   |

  +--------------------------------------------------------+

   Skewness test

  +--------------------------------------------------------+

  |           Equation | Skewness   chi2   df  Prob > chi2 |

  |--------------------+-----------------------------------|

  |          D_linvest |  .13883    0.235   1    0.62820   |

  |          D_lincome | -.44571    2.417   1    0.12003   |

  |          D_lconsum |  -.3638    1.610   1    0.20446   |

  |                ALL |            4.262   3    0.23455   |

  +--------------------------------------------------------+

   Kurtosis test

  +--------------------------------------------------------+

  |           Equation | Kurtosis   chi2   df  Prob > chi2 |

  |--------------------+-----------------------------------|

  |          D_linvest |  4.8116    9.982   1    0.00158   |

  |          D_lincome |  4.5749    7.544   1    0.00602   |

  |          D_lconsum |    3.24    0.175   1    0.67558   |

  |                ALL |           17.702   3    0.00051   |

  +--------------------------------------------------------+

. varlmar

   Lagrange-multiplier test

  +--------------------------------------+

  | lag  |      chi2    df   Prob > chi2 |

  |------+-------------------------------|

  |   1  |    5.5871     9     0.78043   |

  |   2  |    6.3189     9     0.70763   |

  +--------------------------------------+

   H0: no autocorrelation at lag order

. vargranger

   Granger causality Wald tests

  +------------------------------------------------------------------+

  |          Equation           Excluded |   chi2     df Prob > chi2 |

  |--------------------------------------+---------------------------|

  |         D_linvest          D.lincome |  .10723     2    0.948    |

  |         D_linvest          D.lconsum |   3.319     2    0.190    |

  |         D_linvest                ALL |  7.0421     4    0.134    |

  |--------------------------------------+---------------------------|

  |         D_lincome          D.linvest |  3.9117     2    0.141    |

  |         D_lincome          D.lconsum |  3.8014     2    0.149    |

  |         D_lincome                ALL |  8.6121     4    0.072    |

  |--------------------------------------+---------------------------|

  |         D_lconsum          D.linvest |   2.149     2    0.341    |

  |         D_lconsum          D.lincome |  13.597     2    0.001    |

  |         D_lconsum                ALL |    16.7     4    0.002    |

  +------------------------------------------------------------------+

. predict res1, residuals eq(#1)

(3 missing values generated)

. predict res2, residuals eq(#2)

(3 missing values generated)

. predict res3, residuals eq(#3)

(3 missing values generated)

. corr res1 res2 res3

(obs=89)

             |     res1     res2     res3

-------------+---------------------------

        res1 |   1.0000

        res2 |   0.1199   1.0000

        res3 |   0.3229   0.5674   1.0000

. varbasic d(linvest) d(lincome) d(lconsum) in 1/76

Vector autoregression

Sample:  1960q4   1978q4                           No. of obs      =        73

Log likelihood =   606.307                         AIC             = -16.03581

FPE            =  2.18e-11                         HQIC            = -15.77323

Det(Sigma_ml)  =  1.23e-11                         SBIC            = -15.37691

Equation           Parms      RMSE     R-sq      chi2     P>chi2

----------------------------------------------------------------

D_linvest             7     .046148   0.1286   10.76961   0.0958

D_lincome             7     .011719   0.1142   9.410683   0.1518

D_lconsum             7     .009445   0.2513   24.50031   0.0004

----------------------------------------------------------------

------------------------------------------------------------------------------

             |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

D_linvest    |

     linvest |

         LD. |  -.3196318   .1192898    -2.68   0.007    -.5534355   -.0858282

        L2D. |  -.1605508    .118767    -1.35   0.176      -.39333    .0722283

     lincome |

         LD. |   .1459851   .5188451     0.28   0.778    -.8709326    1.162903

        L2D. |   .1146009    .508295     0.23   0.822     -.881639    1.110841

     lconsum |

         LD. |   .9612288   .6316557     1.52   0.128    -.2767936    2.199251

        L2D. |   .9344001   .6324034     1.48   0.140    -.3050877    2.173888

       _cons |  -.0167221   .0163796    -1.02   0.307    -.0488257    .0153814

-------------+----------------------------------------------------------------

D_lincome    |

     linvest |

         LD. |   .0439309   .0302933     1.45   0.147    -.0154427    .1033046

        L2D. |   .0500302   .0301605     1.66   0.097    -.0090833    .1091437

     lincome |

         LD. |  -.1527311    .131759    -1.16   0.246    -.4109741    .1055118

        L2D. |   .0191634   .1290799     0.15   0.882    -.2338285    .2721552

     lconsum |

         LD. |   .2884992   .1604069     1.80   0.072    -.0258926    .6028909

        L2D. |     -.0102   .1605968    -0.06   0.949    -.3249639    .3045639

       _cons |   .0157672   .0041596     3.79   0.000     .0076146    .0239198

-------------+----------------------------------------------------------------

D_lconsum    |

     linvest |

         LD. |   -.002423   .0244142    -0.10   0.921     -.050274     .045428

        L2D. |   .0338806   .0243072     1.39   0.163    -.0137607    .0815219

     lincome |

         LD. |   .2248134   .1061884     2.12   0.034     .0166879    .4329389

        L2D. |   .3549135   .1040292     3.41   0.001     .1510199     .558807

     lconsum |

         LD. |  -.2639695   .1292766    -2.04   0.041     -.517347    -.010592

        L2D. |  -.0222264   .1294296    -0.17   0.864    -.2759039     .231451

       _cons |   .0129258   .0033523     3.86   0.000     .0063554    .0194962

------------------------------------------------------------------------------
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. varbasic d(linvest) d(lincome) d(lconsum) in 1/76, irf

Vector autoregression

…
------------------------------------------------------------------------------
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. varbasic d(linvest) d(lincome) d(lconsum) in 1/76, fevd

Vector autoregression

…
------------------------------------------------------------------------------
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